—2.42 Theorem. Suppose that f is differentiable on an open connected set S and
. — e\
~ Vf(x)=0forallx € S. Then [ is constant on S.
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2.41 Corollary. Suppose f is differentiable on an open convex set S and V f(x) =
\ . \ — N—
O forall x € S. Then f is constant on S.
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EXAMPLE 2. Let w = 2% + y? + 2, and suppose x, v, z are constrained to
satisfy x + y + z = 0. If we take = and y as independent variables, then
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2.7 Taylor’s Theorem ¢p fo

2.68 Theorem (Taylor’s Theorem in Several Variables). Suppose f : R" — R is
of class C* on an open convex set S. Ifa € S and a+h € S, then




